FEKih s (BRKith4a) No.21 IB/KEBEMARE(TEE)
HKERH £ gy |PoatA2A HcEoAxnA ek 19A] AHoFoH2 B
BKEEZ — | (g E) 9:20 9:33 9:27 9:23
KB °C =18 12.9 198 213 20.9
— = 18/ml 100 0 0 0
KGHE — |manhmnce T T T
BEUVZDIEEY mg/L|  0.01 <0.001
ANMEIOLIEEY  [me/L| 0.2 <0.001
%ﬁ;‘%@’r’r “BU | oot <0.001
e me/L 0.6 0.09
YO OEEES meg/L|  0.02 <0.002
SOkl Ls meg/L| 006 0.016
CHOOER mg/L|  0.03 0.010
oJOE/O00A2>  |me/L 0.1 0.003
REER meg/L|  0.01 <0.001
k) \OAR meg/L 0.1 0.028
ko 0OOEFES mg/L|  0.03 0.012
JOESH/O00A4 |me/L|  0.03 0.009

KooERILL meg/L|  0.09 <0.001
BIRILLTILTER mg/L|  0.08 <0.005
B HERRUVEDLEY |me/L 1 <0.004
HTINS=DLRUED | il o2 0.024
A=x?i
HEVZDIEEY meg/L 0.3 <0.01
BHRUVZDIEEY mg/L 1 0.003
RUAVRUVEDIES Y| me/L|  0.05 <0.001
Bl A4 mg/L 200 13 16 16
R TR B Y mg/L 500 114
DIARIY ng/L 10 < <1 <1
2—}%}1/4‘/#2‘)1/:3:7}-—» ng/L 10 {1 4 <
ﬁéﬁé@%&%ﬁ%m% me/L 3 0.7 10 1.1
pHIE — | 5.8~8.6 7.2 7.4 7.2
Bk — |BEThHLIE BEELL EEaL BBl
BR — |'gchunce| BEwaL| BEalL| B4l
BE E 5 <0.5 <0.5 <05
AE E 2 <0.1 <0.1 <0.1
vooo7tb=kJJL [mg/L| 0.01
|AKkIOZ—)L mg/L|  0.02
& TR BIER mg/L| 0.1 E 0.7 0.6 0.7 0.7
e8| 5% Bt o R mg/L 20 7
Bl|E =52 E(TON) — 3 4 A A
e e e _ —ﬁifil&lft _
BEBEGU TR %\lg@;m ii 1.2
REXEHE @/m| 2000 2
%7)1/73'412_ mg/L — 50
o ERmERE 1S/em _ 158 208 185
LNRBRIEE260) | — — 0.011 0.015 0.014




FRoKih R (Bdkith4) No.22 EHHEIIAYST /YR (IU/HE1)
HKERH EXh B 47644 A 168 | S 716458 70 | 71646 A258
FEKBFZI — (%ﬁ%) 9:42 9:08 10:55
KB °C =18 16.0 174 226
— = 18/ml 100 0 0 0
KGHE — |manhmnce T T T
BEUVZDIEEY meg/L|  0.01 <0.001
ANMEIOLIEEY  [me/L| 0.2 <0.001
%ﬁ;‘%@’r’r “BU | oot <0.001
e me/L 0.6 <0.05
YO OEEES meg/L|  0.02 <0.002
yooR)LL mg/L|  0.06 0.015
DHOOOEER meg/L|  0.03 0.011
cJoE/OO0A2y  |[mg/L 0.1 0.004
REER mg/L|  0.01 <0.001
k) \OAR mg/L 0.1 0.029
ko 0OOEFES mg/L|  0.03 0.010
JOESH/O00A4 |me/L|  0.03 0.010

KooERILL meg/L|  0.09 <0.001
BIRILLTILTER mg/L|  0.08 <0.005
B HERRUVEDLEY |me/L 1 <0.004
ETI:’%"%_ VLRUED mg/L 0.2 0.025
HEVZDIEEY mg/L 0.3 <0.01
HEUVZDIEEY mg/L 1 0.003
RUAVRUVEDIES Y| me/L|  0.05 <0.001
Bl A4 mg/L 200 15 12 12
AREZREY mg/L 500 152
DIARIY ng/L 10 < <1 <
2—}%}1/4‘/#2‘)1/:3:7}-—» ng/L 10 {1 4 {1
ﬁéﬁé@%&%ﬁ%m% me/L 3 10 08 08
pHIE — | 5.8~8.6 7.3 7.3 7.1
Bk — |BEThHLIE EEihL EELL BBl
BER — [Bgonnce| BEEgL| BEE4L]  BEE4L
BE E 5 <0.5 <0.5 <05
AE E 2 <0.1 <0.1 <0.1
vooo7tb=kJJL [mg/L| 0.01
|AKkIOZ—)L mg/L|  0.02
& TR BIER mg/L| 0.1LLE 0.5 0.5 0.5
e8| 5% Bt o R mg/L 20 9
Bl|E =52 E(TON) — 3 4 A A
e TR . SIEELUELE
BRGSO TITIER)| — “f.i?é“":ﬁ -1.0
i)
REXEHE @/m| 2000 1
z TIVHE me/L — 68
o ERmERE 4S/om — 231 171 141
m DL LAFY mg/L — 25
LNRBRIEE260) | — — 0.014 0.013 0.015




Bkt R (BCKith )

No.23 EHFMEtUZ—(U/#HE2)

HKERH EXh ; SH64E4 5238 | $F16%5821 H| $H1646 A 4H
FEIKERZ — (%EE) 10:25 9:30 10:20
KB °C =18 155 20.0 203
— = 18/ml 100 0 0 1
KGHE — |manhmnce T T T
BEUVZDIEEY meg/L|  0.01 <0.001
ANMEIOLIEEY  [me/L| 0.2 <0.001
%ﬁ;‘%@’r’r “BU | oot <0.001
e me/L 0.6 0.05
YO OEEES meg/L|  0.02 <0.002
yooR)LL mg/L|  0.06 0.018
DHOOOEER mg/L|  0.03 0.010
oJOE/O00A2>  |me/L 0.1 0.002
REER meg/L|  0.01 <0.001
k) \OAR meg/L 0.1 0.029
k)OO OEFEE mg/L|  0.03 0.013
JOESH/O00A4 |me/L|  0.03 0.009
KJOEHRILL meg/L|  0.09 <0.001
BIRILLTILTER mg/L|  0.08 <0.005
EHEMRUVZDEEY [me/L 1 0.004
HTINS=DLRUED | il o2 0.038
=g
HEVZDIEEY meg/L 0.3 <0.01
HEUVZDIEEY mg/L 1 0.003
RUAVRUVEDIES Y| me/L|  0.05 <0.001
Bl A4 mg/L 200 11 15 13
AREZREY me/L 500 133
DIARIY ng/L 10 < <1 <
2—}%}1/4‘/#2‘)1/:3:7}-—» ng/L 10 {1 4 {1
ﬁgﬁ%@%a()%@%mf me/L 3 0.7 12 10
pHIE — | 5.8~8.6 7.3 7.3 7.1
Bk — |BEThHLIE EEihL EELL EELL
BR — |'gchunce| BEwaL| BEalL| B4l
BE E 5 <0.5 <0.5 <05
AE E 2 <0.1 <0.1 <0.1
vooo7tb=kJJL [mg/L| 0.01
|AKkIOZ—)L mg/L|  0.02
& TR BIER mg/L| 0.1 E 0.5 0.6 0.5
e8| 5% Bt o R mg/L 20 6
Bl|E =52 E(TON) — 3 4 A A
e e e _ —ﬁifil&lft _
BEBEGU TR %‘Efo'“ i 1.1
REXEHE @/m| 2000 3
2 ZIHIE mg/L| — 62
o ERmERE 1S/em _ 142 205 169
1& jj)l/:/rbl-\’fj-y mg/L — 21
LNRBRIEE260) | — — 0.010 0.016 0.017




Bkt R (BCKith )

No.24 FERILOFDOEVLVOR(ER)

HKERH £ gy |PoaA2E SHcEoR A ek 18R] AToFoH2 B
KB — | Bi= E) 10:28 10:00 10:34 9:37
KB °C =18 12.8 193 205 203
— = 18/ml 100 0 0 0
KGHE — |misnmnce T T T
BEUVZDIEEY mg/L|  0.01 <0.001
ANMEIOLIEEY  [me/L| 0.2 <0.001
%ﬁ;‘%@’r’r “BU | oot <0.001
e me/L 0.6 0.07
Y OOEFER meg/L|  0.02 <0.002
vis]=h I[N meg/L|  0.06 0.018
CHOOER mg/L|  0.03 0.004
oJOE/O00A2>  |me/L 0.1 0.003
REER meg/L|  0.01 <0.001
k) \OAR meg/L 0.1 0.030
ko 0OOEFES mg/L|  0.03 0.012
JOESH/O00A4 |me/L|  0.03 0.009
KJOEHRILL meg/L|  0.09 <0.001
BIRILLTILTER mg/L|  0.08 <0.005
B HERRUVEDLEY |me/L 1 0.005
HTINS=DLRUED | il o2 0.022
=g
HEVZDIEEY meg/L 0.3 <0.01
BHRUVZDIEEY mg/L 1 0.004
RUAVRUVEDIES Y| me/L|  0.05 <0.001
Bl A4 mg/L 200 12 16 12
AREZREY mg/L 500 86
DIARIY ng/L 10 < <1 <1
2—}%}1/4‘/#2‘)1/:3:7}-—» ng/L 10 {1 4 <
ﬁéﬁé@%&%ﬁ%m% me/L 3 0.7 10 0.9
pHIE — | 5.8~8.6 7.3 7.3 7.2
Bk — |BEThHLIE BEELL EEaL BBl
BR — |'gchunce| BEwaL| BEalL| B4l
BE E 5 <0.5 <0.5 <05
AE E 2 <0.1 <0.1 <0.1
vooo7tb=kJJL [mg/L| 0.01
|AKkIOZ—)L mg/L|  0.02
& TR BIER mg/L| 0.1 E 0.6 0.6 0.5 0.5
e8| 5% Bt o R mg/L 20 5
Bl|E =52 E(TON) — 3 4 A A
e e e _ —ﬁifil&lft _
BEBEGU TR %\lg@;m ii 1.4
REXEHE @/m| 2000 0
2 ZIHIE mg/L| — 40
o ERmERE 1S/em _ 139 206 138
LNRBRIEE260) | — — 0.011 0.015 0.011




FEK#h R (BdKth4) No.25 BIL—TH 2R (KE)
HKEHH EX0i B SH644 7 168 | S 16458 7H | $7646 A25H
FEIKERZ — (%EE) 10:04 9:30 10:23
KB °C =18 14.8 155 19.8
— = 18/ml 100 0 0 0
KGHE — |manhmnce T T T
BEUVZDIEEY meg/L|  0.01 <0.001
ANMEIOLIEEY  [me/L| 0.2 <0.001
%ﬁ;‘%@’r’r “BU | oot <0.001
e me/L 0.6 <0.05
YO OEEES meg/L|  0.02 <0.002
yooR)LL mg/L|  0.06 0.010
DHOOOEER meg/L|  0.03 0.007
cJoE/OO0A2y  |[mg/L 0.1 0.002
REER mg/L|  0.01 <0.001
k) \OAR mg/L 0.1 0.018
ko 0OOEFES mg/L|  0.03 0.007
JOESH/O00A4 |me/L|  0.03 0.006

KooERILL meg/L|  0.09 <0.001
BIRILLTILTER mg/L|  0.08 <0.005
B HERRUVEDLEY |me/L 1 <0.004
Eft’ﬁl’%_ VLRUED mg/L 0.2 0.016
HEVZDIEEY mg/L 0.3 <0.01
HEUVZDIEEY mg/L 1 0.004
RUAVRUVEDIES Y| me/L|  0.05 <0.001
Bl A4 mg/L 200 9 8 8
AREZREY mg/L 500 62
DIARIY ng/L 10 < <1 <
2—}%}1/4‘/#2‘)1/:3:7}-—» ng/L 10 {1 4 {1
ﬁfﬁ%g%ﬁ*%”_‘f me/L 3 0.7 0.7 0.7
pHIE — | 5.8~8.6 7.3 7.3 7.2
Bk — |BEThHLIE EEihL EELL BBl
BER — [Bgonnce| BEEgL| BEE4L]  BEE4L
BE E 5 <0.5 <0.5 <05
AE E 2 <0.1 <0.1 <0.1
vooo7tb=kJJL [mg/L| 0.01
|AKkIOZ—)L mg/L|  0.02
& TR BIER mg/L| 0.1LLE 0.5 0.5 0.7
e8| 5% Bt o R mg/L 20 4
Bl|E =52 E(TON) — 3 4 A A
e TR . SIEELUELE
BRGSO TITIER)| — “f.i?é“":ﬁ -1.7
i)
REXEHE @/m| 2000 1
z TILHE mg/L — 29
0) %ﬁ{ﬁﬁg uS/cm J— 96 94 98
1&jj)b9@l\’f#> mg/L — 12
LNRBRIEE260) | — — 0.008 0.009 0.011




Bkt R (BCKith )

No.26 FEKER(FE)

HKERH £ P K T 2 ] KX e B | B T
BKEEZ — | (g E) 9:28 9:05 9:40 10:25
KB °C =18 131 18.4 195 19.9
— = 18/ml 100 1 0 0
KGHE — |manhmnce T T T
BEUVZDIEEY mg/L|  0.01 <0.001
ANMEIOLIEEY  [me/L| 0.2 <0.001
%ﬁ;‘%@’r’r “BU | oot <0.001
e me/L 0.6 <0.05
YO OEEES meg/L|  0.02 <0.002
SOkl Ls meg/L| 006 0.016
CHOOER mg/L|  0.03 0.004
oJOE/O00A2>  |me/L 0.1 0.003
REER meg/L|  0.01 <0.001
k) \OAR meg/L 0.1 0.027
ko 0OOEFES mg/L|  0.03 0.011
JOESH/O00A4 |me/L|  0.03 0.008
KooERILL meg/L|  0.09 <0.001
BIRILLTILTER mg/L|  0.08 <0.005
EHEMRUVZDEEY [me/L 1 <0.004
4@17':’%“%—'7""&”%0) me/l| 02 0.020
HEVZDIEEY meg/L 0.3 <0.01
BHRUVZDIEEY mg/L 1 <0.001
RUAVRUVEDIES Y| me/L|  0.05 <0.001
Bl A4 mg/L 200 9 16 8
AREZREY mg/L 500 68
DIARIY ng/L 10 < <1 <1
2—}%}1/4‘/#2‘)1/:3:7}-—» ng/L 10 {1 4 <
ﬁéﬁé@%&%ﬁ%m% me/L 3 0.6 10 08
pHIE — | 5.8~8.6 7.4 75 7.4
Bk — |BEThHLIE EEihL EEaL BBl
BR — |'gchunce| BEwaL| BEalL| B4l
BE E 5 <0.5 <0.5 <05
AE E 2 <0.1 <0.1 <0.1
vooo7tb=kJJL [mg/L| 0.01
|AKkIOZ—)L mg/L|  0.02
& TR BIER mg/L| 0.1 E 0.5 0.3 0.5 0.5
e8| 5% Bt o R mg/L 20 3
Bl|E =52 E(TON) — 3 4 A A
1;%‘:3 s R —ﬁifil}lft
BEEGUTITRE)| — %\lg@;m ii -14
REXEHE @/m| 2000 1
2 ZIHIE mg/L| — 31
o ERmERE 4S/om — 96 204 102
m DL LAFY mg/L — 12
LNRBRIEE260) | — — 0.010 0.014 0.008




Bkt R (BCKith )

No.27 HILETFREV2—(XKA)

%7 FHH By (g 4f1644 8168 | £F16&E5878 | £F1646 H250
KB — | (B 9:11 9:58 9:58
KB °C =18 17.7 172 22.7
— = 18/ml 100 0 0 0
KGHE — |manhmnce T T T
BEUVZDIEEY meg/L|  0.01 <0.001
ANMEIOLIEEY  [me/L| 0.2 <0.001
%ﬁ;‘%@’r’r “BU | oot <0.001
e me/L 0.6 <0.05
YO OEEES meg/L|  0.02 <0.002
yooR)LL mg/L|  0.06 0.013
DHOOOEER meg/L|  0.03 0.009
cJoE/OO0A2y  |[mg/L 0.1 0.004
REER mg/L|  0.01 <0.001
k) \OAR mg/L 0.1 0.026
ko 0OOEFES mg/L|  0.03 0.008
JOESH/O00A4 |me/L|  0.03 0.009
KooERILL meg/L|  0.09 <0.001
BIRILLTILTER mg/L|  0.08 <0.005
EHEMRUVZDEEY [me/L 1 0.004
RTINE=GLRUZD | | g2 0.031
=g
HEVZDIEEY mg/L 0.3 <0.01
HEUVZDIEEY mg/L 1 0.003
RUAVRUVEDIES Y| me/L|  0.05 <0.001
Bl A4 mg/L 200 16 13 12
AREZREY mg/L 500 176
DIARIY ng/L 10 < <1 <
2—}%}1/4‘/#2‘)1/:3:7}-—» ng/L 10 {1 4 {1
ﬁéﬁé@%&%ﬁ%m% me/L 3 10 08 0.9
pHIE — | 5.8~8.6 7.3 7.3 7.1
Bk — |BEThHLIE EEihL EELL EELL
BER — [Bgonnce| BEEgL| BEE4L]  BEE4L
BE E 5 <0.5 <0.5 <05
AE E 2 <0.1 <0.1 <0.1
vooo7tb=kJJL [mg/L| 0.01
|AKkIOZ—)L mg/L|  0.02
& TR BIER mg/L| 0.1LLE 0.5 0.7 0.6
e8| 5% Bt o R mg/L 20 9
Bl|E =52 E(TON) — 3 4 A A
e e e _ —ﬁifiuft ~
BEMEGU7ITHER) Lm0l 0.9
i)
REXEHE @/m| 2000 0
%7)1/73'41?2 mg/L — 76
o ERmERE 4S/om — 263 177 146
m DL LAFY mg/L — 28
LNRBRIEE260) | — — 0.015 0.013 0.017




Bkt R (BCKith )

No.28 RK&BMREUZ—(H#/K)

HKERH £ P K T 2T ] KT e BT T | B
KB — | Bi= E) 10:00 9:35 10:10 10:00
KB °C =18 15.1 22.0 23.4 228
— = 18/ml 100 0 0 0
KGHE — |misnmnce T T T
BEUVZDIEEY mg/L|  0.01 <0.001
ANMEIOLIEEY  [me/L| 0.2 <0.001
%ﬁ;‘%@’r’r “BU | oot <0.001
e me/L 0.6 0.09
Y OOEFER meg/L|  0.02 <0.002
~sook)LL meg/L|  0.06 0.019
CHOOER mg/L|  0.03 0.007
oJOE/O00A2>  |me/L 0.1 0.003
REER meg/L|  0.01 <0.001
k) \OAR meg/L 0.1 0.032
ko 0OOEFES mg/L|  0.03 0.014
JOESH/O00A4 |me/L|  0.03 0.010
KooERILL meg/L|  0.09 <0.001
BIRILLTILTER mg/L|  0.08 <0.005
B HERRUVEDLEY |me/L 1 <0.004
4@17':’%“%—'7""&”%0) me/l| 02 0.025
HEVZDIEEY meg/L 0.3 <0.01
BHRUVZDIEEY mg/L 1 0.003
RUAVRUVEDIES Y| me/L|  0.05 <0.001
Bl A4 mg/L 200 13 16 16
R TR B Y mg/L 500 118
DIARIY ng/L 10 < <1 <1
2—}%}1/4‘/#2‘)1/:3:7}-—» ng/L 10 {1 4 <
ﬁéﬁé@%&%ﬁ%m% me/L 3 0.7 1.0 1.0
pHIE — | 5.8~8.6 7.2 7.3 7.2
Bk — |BEThHLIE BEELL EEaL BBl
BR — |'gchunce| BEwaL| BEalL| B4l
BE E 5 <0.5 <0.5 <05
AE E 2 <0.1 <0.1 <0.1
vooo7tb=kJJL [mg/L| 0.01
|AKkIOZ—)L mg/L|  0.02
& TR BIER mg/L| 0.1 E 0.7 0.6 0.6 0.6
e8| 5% Bt o R mg/L 20 7
Bl|E =52 E(TON) — 3 4 A A
(== 1PN DN i = voers _
BEBEGU TR %\lg@;m ii 1.2
REXEHE @/m| 2000 0
%7)1/73'412_ mg/L — 50
o ERmERE 1S/em _ 160 208 184
m DL LAFY mg/L — 17
LNRBRIEE260) | — — 0.011 0.014 0.015




Bkt R (BCKith )

No.29 HHMEtLVA—(ER)

HKERH EXh ; SH64E4 5238 | $F16%5821 H| $H1646 A 4H
FEKBFZI — (%ﬁ%) 9:40 10:29 9:30
KB °C =18 175 217 22.2
— = 18/ml 100 0 1 0
KGHE — |manhmnce T T T
BEUVZDIEEY meg/L|  0.01 <0.001
ANMEIOLIEEY  [me/L| 0.2 <0.001
%ﬁ;‘%@’r’r “BU | oot <0.001
e me/L 0.6 0.05
YO OEEES meg/L|  0.02 <0.002
sookiLLs meg/L|  0.06 0.014
DHOOOEER meg/L|  0.03 0.007
oJOE/O00A2>  |me/L 0.1 0.002
REER meg/L|  0.01 <0.001
k) \OAR meg/L 0.1 0.024
k)OO OEFEE mg/L|  0.03 0.009
JOESH/O00A4 |me/L|  0.03 0.008
KooERILL meg/L|  0.09 <0.001
BIRILLTILTER mg/L|  0.08 <0.005
EHEMRUVZDEEY [me/L 1 0.005
4@17':’%“%—'7""&”%0) me/l| 02 0.039
HEVZDIEEY meg/L 0.3 <0.01
HEUVZDIEEY mg/L 1 0.003
RUAVRUVEDIES Y| me/L|  0.05 <0.001
Bl A4 mg/L 200 13 17 14
AREZREY me/L 500 142
DIARIY ng/L 10 < <1 <
2—}%}1/4‘/#2‘)1/:3:7}-—» ng/L 10 {1 4 {1
ﬁgﬁ%@%a()%@%mf me/L 3 0.7 1.1 10
pHIE — | 5.8~8.6 7.2 7.3 7.1
Bk — |BEThHLIE EEihL EELL EELL
BR — |'gchunce| BEwaL| BEalL| B4l
BE E 5 <0.5 <0.5 <05
AE E 2 <0.1 <0.1 <0.1
vooo7tb=kJJL [mg/L| 0.01
|AKkIOZ—)L mg/L|  0.02
& TR BIER mg/L| 0.1 E 0.7 0.6 0.6
e8| 5% Bt o R mg/L 20 6
Bl|E =52 E(TON) — 3 4 A A
e TR . SIEELUELE
BEEGUTITRE)| — %@;oc i -1.0
REXEHE @/m| 2000 0
%7)1/73'41?2 mg/L — 64
o ERmERE 4S/om _ 166 219 177
1& jj)l/:/rbl-\’fj-y mg/L — 29
LNRBRIEE260) | — — 0.011 0.016 0.016




FEKih s (BRKith4a) No.30 /\RTmRt>2—(/4E)
HKERH £ P K T 2 ] KX | B T B
BKESZ — | (g E) 9:52 9:00 10:00 11:10
KB °C =18 14.7 211 243 23.0
— = 18/ml 100 0 0 0
KGHE — |manhmnce T T T
BEUVZDIEEY mg/L|  0.01 <0.001
ANEOOLIEEY  [me/L]  0.02 <0.001
%ﬁ;‘%@’r’r “BU | oot <0.001
e me/L 0.6 0.09
YO OEEES meg/L|  0.02 <0.002
SOkl Ls meg/L| 006 0.019
CHOOER mg/L|  0.03 0.005
oJOE/O00A2>  |me/L 0.1 0.004
REER meg/L|  0.01 <0.001
k) \OAR meg/L 0.1 0.033
ko 0OOEFES mg/L|  0.03 0.012
JOESH/O00A4 |me/L|  0.03 0.010

KJOEHRILL mg/L|  0.09 <0.001
BIRILLTILTER mg/L|  0.08 <0.005
FHEIRBRUVZDIEESY [me/L 1 <0.004
4@17':’%“%—'7""&”%0) me/l| 02 0.021
HEVZDIEEY meg/L 0.3 <0.01
BHRUVZDIEEY mg/L 1 0.004
RUAVRUVEDIES Y| me/L|  0.05 <0.001
Bl A4 mg/L 200 13 15 15
AREZREY me/L 500 112
DIARIY ng/L 10 < <1 <1
2—}%}1/4‘/#2‘)1/:3:7}-—» ng/L 10 {1 4 <
ﬁéﬁé@%&%ﬁ%m% me/L 3 0.7 10 10
pHIE — | 5.8~8.6 7.2 7.3 7.1
Bk — |BEThHLIE BEELL EEaL BBl
BR — |'gchunce| BEwaL| BEalL| B4l
BE E 5 <0.5 <0.5 <05
AE E 2 <0.1 <0.1 <0.1
vooo7tb=kJJL [mg/L| 0.01
|AKkIOZ—)L mg/L|  0.02
& TR BIER mg/L| 0.1 E 0.6 0.4 0.4 0.5
e8| 5% Bt o R mg/L 20 8
Bl|E =52 E(TON) — 3 4 A A
e s R —ﬁifil}lft
BREGUTITER)| — P’lﬂﬁfo" i -1.3
i)
REXEHE @/m| 2000 1
z TILHE mg/L — 48
o ERmERE 4S/om _ 164 193 174
1&jj)b9@l\’f#> mg/L — 17
LNRBRIEE260) | — — 0.011 0.015 0.013




